(0 ¢) (rad)

1072

1073

TPlpoT (PCA

3
Hheamiindf

a(d cot(d))
5

1072

1073

_9101._.%: T

S E -

o 1'15 :
i3 RASTRE T
0.92— -------------- %?I
0.8k :

TPlpoT (PCA

3
Hheamiindf

SSW_CKIPUSU __RECO

—=— DQM_VUUUI_RUUU0U0000T__Global_CM | O50_]
—e— DQM_V0001_R000000001__Global__CMSSW_mkFitPU50__RECO

CMSSW_mkFitPU50LowPtQuad-noBkwd

—— DQM_V0001_R000000001__Global__CMSSW_mkFitPU50CowPtQuad__RECO
—— DOM_V0001_R000000001__Global

SICEWATL

=

N S

o p/p.)

,_.
<
L

=} ° £
2 t ¥
] [
o L

e \'&J.}'J &

P
t%)obeamlin%)o

z

oo a,) (cm)

Ratio

<+|:

TPl[:g)T (PCA

3
t%oéeamlim]e'f)



	Contents
	Page 1


